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	Corrections
	Points deducted

	In question 2, the most likely result was incorrectly interpreted
	The age is to be read as 44 or older and the affluence should be 16 or greater. An individual in this category is 85% likely to buy organic products
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	In question 2, the same errors occurred in the interpretation of the least likely to buy organics
	The characteristics include an age of 44 or older and an affluence level of 12 or less. An individual in this category is 13% likely to buy organic products. 
As a general note, many of these errors can be prevented by reading the splits in the predictor variables and understanding what the question is asking
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